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	Program: -B. Tech
	Faculty Name:- Akash Dewangan
	Sem:-3rd 

	Course Name:- Digital Electronics
	Course Code: - B0324314(024)
	Max Marks:-20


Assignment- I
 Note: - Each Question carry 4 marks.

1. Justify the following statements with example:

(i) Excess-3 code is self complementary code.

(ii) Gray code is a reflected code.

           (CO-1, PO-2, Level-2)
 
[4]   
2. What is self complementing code? Explain with suitable example.









            
              (CO-1, PO-3, Level-3)     
[4]    
3. Write short notes on:

(i) Self complementing code

(ii) Excess-3 code

(iii) Sequential code

(iv) ASCII code
(v) Cyclic code



            (CO-1, PO-1, Level-2)           
[4]    
4. Minimize the function using K-map and implement the specified function using only NAND gates.

F(A,B,C,D) = Σm (0,1,2,9,11,15) + d (8.10.14)
(CO-2, PO-4, Level-2)   
[4]            
5. Minimize the given Boolean function using the Quine-McCluskey method.

F(A,B,C,D) = Σm (0,2,3,6,7,8,9,10)


 (CO-2, PO-1, Level-3)   
[4]  
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Assignment- I
 Note: - Each Question carry 4 marks.

Q1 Explain construction of transformer in detail(CO-1, PO-2, Level-2)     (4)                                                    
Q2 Explain losses in transformer in detail (CO-1, PO-2, Level-3)                (4)                                            
Q3 Explain dc generator and  its different types. (CO-2, PO-2, Level-4)     (4)                                                     
Q4 Explain  losses in dc generator detail    .(CO-2, PO-2, Level-3)             (4)
Q5explain principle of dc motor.. (CO-3, PO-2, Level-2)                            (4)
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Assignment- I
 Note: - Each Question carry 4 marks.        
1. Given the values





          

      x : 
  5
  7
  11
  13
  17

     f(x) :
150
392
1452
2366
5202

Evaluate f(9), using (i) Lagrange’s  formula  (ii) Newton’s divided difference formula. (CO-1, PO-2, Level-2)           
2. Interpolate y(30)  by using Gauss forward formula    (CO-1, PO-2, Level-3)                       
       
Marks: 

    21            25               29         33           37
      No. of students:   18.47
 17.81     17.10
 16.34
   15.51

3. If y(75)=246, y(80)=202, y(85)=118, y(90)=40 find y(79) using appropriate method. (CO-2, PO-2, Level-2)           
4.Use Picard’s method to approximate the value of y for x=0.1, given that
 [image: image2.png]3x+y’andy =1 forx =0



(CO-2, PO-1, Level-3)           
5.3Solve that initial value problem
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, y (0) = 1, for x = 0.4 by using Milne’s method when it given that        (CO-1, PO-2, Level-2)                  


x : 
0.1

0.2

0.3



y :
 1.105

1.223

1.355
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Assignment- I
 Note: - Each Question carry 4 marks.        
(1)Find a root of the equation
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, using bisection method correct to three decimal places   (CO-1, PO-2, Level-2)           
 (2)Find the real root of the equation 
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xe

x

cos

=

using the Secant method correct to four decimal places. (CO-2, PO-2, Level-3)           


 (3) Find the real root of the equation 3x = cos x + 1using   Newton’s Raphson method correct to four decimal places. (CO2, PO-2, Level-3)           


(4)   Given the values
(CO-2, PO-3, Level-3)           




          

      x : 
  5
  7
  11
  13
  17

     f(x) :
150
392
1452
2366
5202

Evaluate f(9), using (i) Lagrange’s  formula  (ii) Newton’s divided difference formula.

(5) 
From the following table, estimate the number of students who obtained marks between 40 and 45     (CO-2, PO-2, Level-3)                       
       

Marks: 

   30-40   40-50    50-60   60-70   70-80

      No. of students:   31
       42
 51
   35
    31
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Assignment- 2

Even Session (July-Dec 2022)

 Note: - Each Question carries 4 marks.

(1) Explain following terms


(A)
Active Elements 
(B)
Passive Element              (C)Independent voltage source


(D)
Bilateral Element      
(E)
duality 
                                                                                                                                  (C0-3,PO-2,level-3)  [4]

 (2)) Use mesh analysis to evaluate three unknown current in the circuit of fig shown below.

[image: image6.wmf]
                                                                                                                                (C0-4,PO-2,level-3) [4]
(3) Use the superposition theorem to find 
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 in the circuit and power absorbed by 100 V source.
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                                                                                                                                (C0-4,PO-2,level-3) [4]


 
                             

(4)
Find the current through 
[image: image9.wmf]L
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in the circuit of fig using Norton theorem.
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                                    (C0-4,PO-3,level-3)  [4]
              

(5) Find the value of 
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for max power transformation also find the value of max power transferred.
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                                                                                  (CO-5, PO-2, Level-3)  [4] 
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